Intro to College Math: Chapter 3.2
Graphing lines

1. For the following equation, which of the given ordered pairs are solutions.
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2. For the following equation, which of the given ordered pairs are solutions?
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the equation.

3. For the following equation, complete the given ordered pairs, and use the results to graph the solution set for
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4. For the following equation, complete the given ordered pairs, and use the results to graph the solution set for
the equation.
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5. For the following equation,

complete the given ordered pairs, and use the results to graph the solution set for
the equation.
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6. For the following equation, complete the given ordered pairs, and use the results to graph the solution set for
the equation.
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7. Solve the equation for y. Then, complete the given ordered pairs, and use them to draw the graph.
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8. Solve the equation for y. Then, complete the given ordered pairs, and use them to draw the graph.

5%*‘\3’-90
*&\C\U—L\%:QO
_Cétx‘ "%% ‘i~ ‘Si' &Bl\/& gor' \s b\j W\Q\({r\g C,\/gr%mm(a ,\-0
4y = 20-5% o Figh side except bho .
X 4 4
=% - %o
Lo, ) M, ) (g, D
\515—%% %:5_%X ‘ﬁ:%_qry‘
. =5-95
3297 3@ 9=5-3(  WTCTE()
\5_— 5 3: ) Lj: -5
Tnsert e number-

¥ o %raQ‘r\ eodn Pt on ¥ Wh
- Rercenper - s o g \tnm“egw)

NS \unber
ord r\'ca\mL GF pasitive)
- 98 e Yells Yo To P P Cf
@S’x\"“l%* dowon Q\‘— \{\Q_?_\—’\x(ﬁB




9. Graph the equation.
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10. Graph the equation.
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